Lecture 2. Markets as institutions that organize space & Value chains, scale economies and market failures
Reading for this lecture: Chapters 1 & 2
As briefly discussed last lecture
· Markets are one of the institutions that we will consider in this course

· Markets are not specific to capitalism, but have been around as long as we have lived in some form of civilization

· Their purpose is to exchange goods, most often for currency

· But there is no reason why a market cannot be a place to transact the mutual coincidence of wants…make sure they know what this means

· Consequently, markets are nested within a set of social relations, or, alternatively speaking, other institutions

· Markets are constrained by laws and regulations, but also guided by local conventions and behaviours

· Perhaps most important, markets vary from place to place and time to time

· In North America and much of Europe, most markets are not barter-based

· There are exceptions, of course, but this is not the norm

· In the Developing world, bartering is far more commonplace

Our present society is generally called a market economy

· And this is because of the prevalence of markets in our economy
· We have a goods market, a capital market, a finance market, a labour market, etc.

· In Feudal times there was a market, but it played a small role in the workings of the economy

· People were either, royalty, bound to the land, or part of the church

· And the exchange of goods occurred within the confines of the Feudal system, only with very little going on in the good market

There are three primary types of markets that we will consider in this course

· Open markets: many buyers and sellers

· Relational markets: few buyers and many sellers…think of thousands of farmers selling their grain to a handful of large agricultural firms, or many manufacturers trying to sell to a handful of large retailers

· And then there are administered markets: firms buying and selling within themselves…different divisions, etc.

The most prevalent form of competition, at least in economic thought, is perfect competition

· Of course, this type of market is actually quite rare, but it is instructive to understand how things are supposed to occur

· In a perfectly competitive market, no one individual, buyer or seller, can impact the price or quantity traded/exchanged

· In this sense, this market is fair and self-regulating

· Two basic “laws” are present in this type of market

· When the price goes up, sellers will sell more goods

· When the price goes up, buyers will buyer few goods

· This give the standard supply-demand graph

DRAW THE GRAPH NAD EXPLAIN – SHOW HOW PRICES AND QUANTITIES CHANGE IF INITIAL PRICE IS TOO HIGH OR TOO LOW
In economics, geography has very little to say here
· You can think of there being one central market that everyone goes to in order to buy and sell

· However, geography, in this particular case, distance, is important

· Generally speaking the further a seller has to travel to sell the goods, the greater the price has to be

· And also for consumers, you will only travel so far to get a good

· And the farther you have to travel the less it should be

· You aren’t going to travel very far for a loaf of bread

· But you will travel a great distance to buy a car, because of the cost

· This is why you can save a fair bit of money to shop at Costco, etc, if you can travel

Back to the supply-demand graph

· Increases in distance relate to shifts in the supply curve

· Because at every quantity, the seller has to get more money
· This will tend to result in a high price and lower quantity in equilibrium

· Distance isn’t the only factor here for this shift

· So just because one supplier is closer to a new market than another does not mean that their curve will shift up less

· It depends on the type of transportation (cost) available to them

· In a perfectly competitive market, your distance costs to the market are not considered

· So because of your geography, you may not participate in particular perfectly competitive markets…you will not make a profit

You can see then that other (local) suppliers may more in to “take” the local market

· This ties into the central place theory discussed in the text book

· For the purposes of the exam, I want you to understand the context of this model, but you won’t have to reproduce any of these graphs

Deviations from the perfectly competitive market are abound everywhere

· The polar opposite of a perfectly competitive market is a monopoly
· This is a situation when there is only one supplier is in the market

· Essentially, they decide their profit maximizing price, given known demand for the product and you can buy it or not

· More common is an oligopoly, or a small number of firms that dominate

· Think of automobile companies

The deviations in market types should not be understated

· Particularly in the case of monopolies and oligopolies

· Monopsonies and oligopsonies are when there are one or a few buyers, not sellers
· At the turn of the 20th century, Standard Oil, now Chevron effectively dominated the US Oil industry

· There have many comparisons of Standard Oil to Microsoft in the cases of anti-trust cases because Microsoft has had a virtual monopoly in the computer software world

In fact, the size of some of the world’s largest corporations is larger than some countries

· As you will have seen in your textbook

· Walmart and Exxon have more gross revenues than Sweden has as a GDP

· Moreover, Walmart, Exxon, and General Motors

· Each had more revenues that the Canadian federal government

Let’s look at this a little more carefully

· In 2009, Walmart’s gross revenues were approximately $400 billion

· Depending on who does the GDP calculations for countries

· IMF, World Bank, CIA World Factbook

· This is approximately the size of a country like Sweden, Austria, or Norway
· A ranking in the world of about 25th

· Hardly insignificant

· Incidentally, Walmart tends to consist of approximately 2.5 percent of US GDP

· That’s one company!

However, based on the annual reports from Walmart

· The costs of sales for Walmart is about 75 percent
· Which means that the value added by Walmart is approximately $100 billion

· That is about the size of New Zealand, Ukraine, or Vietnam

· A ranking in the world of about 55th

· With about 200 countries in the world, this still isn’t too bad

· But context does matter here

Either way, because of their immense size

· Companies like Walmart have tremendous power in the market

· Power not only over the consumer

· But also over government and non-government institutions

· This, of course, has implication for labour and the consumer

It is not unheard of at all

· For national, state, and local governments

· To provide concessions to bring big corporations into their territory

· Tax breaks, environmental breaks, etc.

· Because of the huge impact on employment in an area from one of these companies from setting up shop

· So power over the goods market is only part of the story for these large corporations
Another issue that allows for a deviation from perfect competition is transaction costs

· Because of a lack of perfect information, there are search costs

· We have to gather information about what we want to buy

· In a truly competitive market there is no product differentiation

· But in the real world there is a lot of differentiation that means we must comparison shop

· Without comparison shopping, and sometimes with it!

· There are opportunism costs, when one person exploits the other

· Because of this firms must monitor their retailers and we have consumer watchdogs and this imposes a cost on consumption

A good method of thinking about the different markets in our society is through a value chain
· At each stage/link in the value change there is a market

· Consider the fish example in your textbook

· The first market is the fisherman’s market: who is in or out

· This may be controlled by licensing, access to resources to become a fisherman, etc.

· Once the fish a aught, at a minimum, the fishermen must sell their goods to the public

· They can do this directly, go to auctions, or have negotiated sales

· From here the fish may go to traders or wholesalers’ markets

· Who may then sell the fish in retail fishmarkets that could go to restaurant buyers, food producers, or your grocery store

· At every point in the link when value is added, there is a market

· And each market will have its own rules

· These rules may be very different at different stages even though the product is the same

· You may barter/negotiate at the early stages of the value chain

· But try doing that at your sushi restaurant

· Same “place” (this may be significantly different), same time, same product, different institutions to deal with

Consequently, the “simple” operation of getting fish on the dinner table is quite complex

· It is a multi-staged process operating through multiple markets

· Often these markets operate in very different ways

· The same is for many other products that are apparently simple: coffee, bananas, chocolate, etc.

· Imagine the complexity of a value chain for a manufactured product that has multiple components all coming from multiple factories at different places on the planet!

· At different stages of the value chain, market types change: open to relational to hierarchical and then back again

Because of their complexity, markets must be governed
· This occurs through both formal and informal institutions

· Formal institutions tend to be legally-mandated organizations such as government and legal systems

· Whereas informal institutions are more focused on implicit or explicit value systems and norms, trust and conventions

· Of course this is a false dichotomy as formal and informal institutions work together and interdependently

· Trust and conventions in one place may be far more effective than in others

· Typically, though not always, we in the West do not tolerate firms messing with our health and safety

· We have legally-mandated organization (government and non-government) to deal with this as well as norms in society that do not tolerate “bad” behavior by firms

Formal governance can be viewed as a hierarchy

· One that moves from the global right down to the local

· The World Trade Organization, NGOs (Greenpeace, etc.), World Health Organization, OECD, al help monitor/govern the market at the global level

· At the national level, we have commerce regulations, industry associations, and national departments of health, education and welfare

· At the regional level, there are further state and provincial commerce regulations, industry associations that deal with regional issues, and province government and non-government bodies that regulate the market

· And at the local level there are municipal regulations

Do not under-estimate the power of these “lower” formal institutions in the market

· Provinces and states have a lot of power

· This is fairly obvious in the United States, but also in the confederation we call Canada

· Provincial commerce regulations can be so significant as to decrease interprovincial trade by billions of dollars each year

· This has significant implications for many regions within Canada

· And is why we have an interprovincial trade agreement within Canada

Informal governance is more difficult to tie down to a list

· But involves systems of norms and cultures that vary at every scale

· In Canada, we have a distinct culture, relative to the rest of the world,

· But to say we are all the same as you move across the Canadian landscape is ludicrous

· Local culture, local trust, and local conventions are critical to the governance of markets

Perhaps this is best summarized in a term coined by Michael Storper

· Untraded interdependencies

· These are voluntary exchanges of information between multiple parties

· Consumers and suppliers in the case

· And tend to consider issues around the technology, product design, and development of a product

· Think of firms sharing information with their consumers about the product to be bought

· It is untraded because it is not sold, but provided “free of charge”

· Time of course, isn’t free

· The expectations of these untraded interdependencies with vary from place to place and time to time

· And may be critical for a market to operate properly

The last item I want to discuss from Chapter 1 is the core-periphery model
· This is a dichotomy, often a false one, of some area

· Your textbook uses the term crude

· This dichotomy may be within cities, between cities and rural areas, between regions within a country, and globally

Basically, core economies are large, often metropolitan areas

· Cores have diverse economies within them

· And, consequently, have significant trade within them

· Corporate headquarters tend to be in the core

· And multinational corporations are present within them

Peripheries, on the other hand

· Tend to have a small market size and rely on external markets (cores) for economic survival

· Branch plants will be in the periphery

· Raw material extraction will be in the periphery

· And small firms will be in the periphery

· But headquarters will be in the core

Something that is important to understand here

· Is that just because you are part of a periphery does not mean you are poor

· Periphery economies can be rather wealthy

· Think of the forest resource towns

· Though many of these have been decimated of late, these used to be great places to live and work

· The pay was good, the job wasn’t too dangerous (sometimes it was), and the union would be strong

· Often an entire town would be based on a single industry with one firm behind that industry

· In fact, in British Columbia there was the establishment of the Instant Towns Act (1965) to allow for the development of these single industry (company) towns

· All the other businesses in these towns were there to “serve” the employees of the large employer

Lastly, it is important to note that

· The classification of core and periphery often depends on context
· For example, on a global scale, Canada is considered periphery

· A rich periphery, but a periphery nonetheless

· However, within Canada there are cores

· Notice the plural

· In other words, there is a geography of core-periphery classification

· These things are not fixed and absolute

· As such, some places may simultaneously be cores and peripheries

On to value chains and the spatial division of labour

The spatial division of labour is something we have already discussed
· In the context of the automotive industry

· Labour intensive production in Canada

· And human capital intensive production in the United States

· This is not to say that labour intensive production does not occur in the United States, and vice versa

· But this is the general tendency largely resulting from the Auto Pact

The division of labour, more generally is an old idea in economic thought

· This term is largely attributed to Adam Smith, an economist who wrote/published The Wealth of Nations in 1776

· He gave the example of a pin making factory

· The first person cuts a section of wire, the second straightens it, the third sharpens one end, and a fourth puts a head on the pin

· With four people making pins in a division of labour such as this

· More pins can be made than if each of these four people were making pins on their own

The spatial division of labour is something that makes obvious sense in many cases

· Because of natural resources, climate, the local labour characteristics, etc

· It is more efficient for certain activities to be undertaken in particular places

· We specialize is activity X they specialize in activity Y, then we trade

The efficiency also come from

· Internal economies of scale

· I referred to this in the context of the automotive industry in Canada last class

· Because Canada is a relatively small nation and the fixed/capital costs of automotive production are so great

· It was very expensive to make automobiles in Canada, prior to the Auto Pact

· As the size of your factory increases, most often internal economies of scale are present and production costs fall

PUT UP FIGURE 2.2, ECONOMIES OF SCALE
MENTION THE COST OF PRODUCING THE FIRST PRODUCT WITH A LOT OF CAPITAL
DISCUSS THE DIFFERENCES BETWEEN FIXED, AVERAGE, AND MARGINAL COSTS

· Average costs begin to rise because of increased labour costs, etc

· Think of overtime

An important concept here is minimum efficient scale

· This term refers to the minimum “size” a firm must be in order to be competitive

· Let’s consider a large manufacturing plant
· Suppose annual fixed capital costs (purchased value over time, maintenance, wear and tear, etc.) is $1 billion per year

· In order to pay for this you must have more than $1 billion dollars in revenue

· Why more? Raw material costs, labour costs, electricity costs, etc.

· These are referred to as variable costs because they vary based on how much you produce

· In order to be competitive, a firm must minimize its average cost of production

· Whatever this level of production is, that is your minimum efficient scale

· The more capital you have, the more you need to produce to be efficient

· It is kind of a vicious cycle and is a contradiction

· To be more productive, you need more capital, which means you have to produce more AND sell more

· This leads to overproduction, economic crisis, and a reduction in sales

This efficiency also comes from external economies of scale

· That generally result from having related activities concentrated in space

· Think of having your automotive production plant close to steel mills

· Or more simply, think of this as firms gaining access to government provided resources

· The provision of infrastructure (highways and major ports) and the presence of a large labour pool
· Consequently, the establishment or expansion of one firm leads to the establishment and development of other firms

· Your textbook refers to this as a geographic multiplier

Localization and urbanization economies of scale are forms of external economies of scale

· As market size grows, local firms can provide intermediate gods in the production process

· Automotive production, for example, needs steel, petroleum products, tools, body stamping machines, etc.

· When production is relatively small, these products must be brought in from elsewhere

· But as the local industry develops, new intermediate goods firms can be established to serve the local market and make a profit

· I.E. meet their own minimum efficient scale

Through expansion (and contraction!), the spatial division of labour is constantly changing

· The process of globalization may be seen in a few different ways

· The efficient allocation of productive activities…cheap labour, etc.

· The constant search for new products to convince us that we need

· Or a reaction to the underlying processes of capitalism

I’m not going to get into details here

· Because it is not the appropriate course

· But David Harvey, a Marxist Geographer

· Refers to this process as the spatial fix

· When capitalism hits crisis, there are changes in the spatial division of labour

· Production shuts down here and opens up over there in order to put things back in “balance” again such that exploitation and profits, I mean, production can carry on as it did before

· Sometimes this is subtle, but other times not so much

· Think of shutting down a production plant in Michigan or southern Ontario and opening up in the US South, or Mexico

· This is a spatial fix

Let us consider the spatial variation of the value chain, of the spatial value chain
INSERT FIGURE 2.1, VALUE CHAINS
What you see in this value chain, actually visualized using chain links

· Is the general links in the creation of a consumer product

· There are a number of activities before raw material extraction may occur

· A number of activities that are directly related to bringing the product to the consumer

· And then new value chains that may be created at the end of the retail sale, or along the way

· Most recently (i.e. the past couple of decades) this has involved a new value chain

· That considers the disposal of goods once consumed

· Think of the recycling industry that has emerged in the past 20 years

· Aside from newspapers (that not everyone recycled before either) everything used to go into the trash…winding up in the dump

· But now, our waste is literally someone else’s treasure

Most important in the context of this course

· Is to recognize that many of the links in the value chains are located in different places

· Strategic decision making and R&D is a headquarters, most often in large urban centres

· Resource extraction occurs wherever the resources are located!

· Production occurs where it is most cost-effective, considering the necessity for human capital

· And final sales and service is carried out where the consumers are

· Most often, each link is quite distant from the other

Because of the massive amount of market coordination that must take place
· It is not uncommon for there to be markets failures

· And the corresponding need for economic policy to address these failures

· Over production and underproduction are examples of market failures

· We tend to either have too much or not enough

· Marxists will say that this is an internal issue with the system of capitalism

· And there is little (or nothing!) we can do to stop it

· And of course, these booms and busts have their origins and manifestations in particular places

Most mainstream economists will refer to externalities

· These are costs or benefits (usually costs) that are not considered in the standard profit maximization process of capitalism

· The most noticeable negative externality (bad thing) nowadays

· Is the presence of environmental damage

· Think of the current environmental catastrophe in the Gulf of Mexico with British Petroleum

Another important market failure is the lack of investment in public goods

· These are present because of external economies of scale

· But once there it is common for public goods to be taken advantage of

· Firms forget to put back so the external economies of scale are sustainable

· These are things like, transportation systems, health care, education, and other infrastructure such as electricity

· These things have to be present for firms to be able to purchase them

· Consequently, someone has to pay for them

· The trajectory of public goods over the past few decades

· Is their disappearance or increased economic burden for their provision being placed on the working class, not the firms that reap the greatest benefits

You textbook lists a number of other market failures and their geographic consequences

So what can be done about market failures?

· Most often this involves government interventions

· Think of the Bank of Canada or the US Federal Reserve manipulating interest rates

· EXPLAIN THIS: higher interest rates slow down the economy because it is more expensive to invest in capital expansion, and vice versa

· And of course there is a great irony here

· Conservative, or right-wing, politics tends to want to minimize the existence of government intervention

· But their activities tend to be the source of the problem and major beneficiaries

The trouble with local (even national) government policy
· Is that increased globalization over the past 100 years

· Makes us ever more susceptible to economic and social crises across the globe

· There is little that Canadian government policy can do to mediate the effects of crisis on the other side of the planet
What has happened over the past few decades is the development of a global spatial division of labour
· Under this regime, the ways the rich countries planned operations were as follows

· High-wage, skilled-labour jobs would be done in the industrialized countries

· Think of these countries as Canada, the United States, and Western Europe

· Low-skilled jobs would be farmed of to developing nations with cheap labour

· Of course, only multinational companies could carry this out…a further drive toward the market failure of monopolies and oligopolies

· Overall, we would be better off, because we specialized in high wage work

· This would increase trade between nations

· Further increasing the spatial division of labour

· And theoretically lead to welfare increases across the globe

· There would be those in the West who would be left behind because they are low skilled and in the developed world

· But this is collateral damage: we still need people to pick up the garbage and cut the grass anyway (
However, what has happened is that these developing nations became something else

· Newly industrialized economies

· Places like Hong Kong, Taiwan, South Korea, and Singapore

· Now, rather than their being our cheap labour suppliers, they have become our competitors!

· This had led to the expansion of the search for cheap labour across the globe (currently still in East Asia)

· But now the West is competing with the East for these sources!!

A consequence of the expansion of the global spatial division of labour

· Is the problem of sustainable development

· And major inequality across the planet

PUT UP FIGURES 2.4 AND 2.5 (GDP per CAPITA and ENERGY CONSUMPTION)
DISCUSS THE DISTRIBUTION OF WEALTH AND ENERGY CONSUMPTION A LITTLE BIT
· More energy means more environmental degradation, in a crude sense
In order to give an example of how deep this inequality is
· A calculation in 2006 found that the 200 world’s richest people
· Had more collective wealth that the combined wealth of the 40 poorest countries
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